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QUESTION 1
When applying the Service Loose Coupling design principle, we want to the
coupling between the service contract and service consumers and the coupling of

the service contract to its underlying logic.
Select the correct answer.

A. reduce, reduce

B. reduce, increase

C. increase, reduce

D. increase, increase

Correct Answer: A

QUESTION 2

Which of the following service-orientation principles support the application of the Service Composability principle?
SELECT ALL THAT APPLY

A. Standardized Service Contract
B. Service Autonomy

C. Service Integration

D. Service Statelessness

Correct Answer: ABD

QUESTION 3

The service-orientation principle primarily concerned with ensuring the runtime behavioral predictability of a service is:
Select the correct answer.

A. Service Prediction

B. Service Loose Coupling
C. Service Abstraction

D. None of the above.

Correct Answer: D

Latest S90.03 Dumps | S90.03 Study Guide | S90.03 Braindumps 2/3


https://www.pass4itsure.com/s90-03.html
https://www.pass4itsure.com/s90-03.html
https://www.pass4itsure.com/s90-03.html

. VCE & PDF https://www.pass4itsure.com/s90-03.html
a 2024 Latest passditsure S90.03 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 4
Which of the following statements are true? SELECT ALL THAT APPLY

A. The adoption of service-orientation can result in an increased overall time and cost for the initial delivery of service
logic.

B. The adoption of service-orientation can result in increased design complexity due to a constant emphasis on reuse.

C. The adoption of service-orientation can result in an emphasis on tactical (short-term) rather than strategic (long-term)
planning in order to justify a quick ROI.

D. The adoption of service-orientation can result in a need to introduce a governance structure that may introduce new
organizational roles and processes.

Correct Answer: ABD

QUESTION 5
Which of the following is not a benefit associated with silo-based application design? Select the correct answer.

A. The emphasis on fulfilling tactical (short-term) business requirements allows for a more predictable application
delivery lifecycle.

B. The analysis and design of applications are easier because strategic (long-term) business requirements don\\'t
usually need to be taken into account.

C. The latest technology advancements can be leveraged by repeatedly building new applications from the ground up.
D. Applications are always inherently built for repeated reuse across silos.

Correct Answer: D
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